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The particle enough indicates that the quanuty, NUMDer Or quality of Sometning is sufficient
nt,

., Complete the sentences with “too” , “enough”, “too many” or *
) 00

much”. \
@ The air conditioning is joq) low. I'm freezing.
@ This basket is not big E\’\ UU(‘)) for all the shopping.
-l
(e.) We have {a O Mna 4 souvenirs.
‘- ( . .
*(d.) Yes, and | think there is T,X\Od:\ sugar in it.

—

(&) Yes, but| don't think Il have &30/,

@ We haven'tgot Too pe cn money for the expedition.

N o (tulciny  smoke from factories.

(@ o 0@ carsand \ SO

Escaneado con CamScanner



Answer the questions using “too”

Why can't elephants jump?

 Becavse Tiephants 13 190 big
2. Why can't a child drive a car?

,! Why 15 400 Stelll

}C‘)WM‘WWWWNM?

| becavse \4 w45 tos big problem

@ Why couldn't he drink the coffee?
B v

¥ Answer the questions using “enough’”.

) Why can't you buy a Ferrari?

,) Why can't Sue lift 100 kilos?
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